RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving San Lucy District FY 2007 Budget)

RESOLUTION NO. $\underline{06-795}$

1	WHEREAS,	the Tohono O'odham Legislative Cou	ncil is vested with constitutional authority in
2		managing fiscal matters pertaining to	the nation and districts that includes approva
3		of budgets and subsequent modificati	on and amendments to such budgets; and
4	WHEREAS,	the Nation annually distribute funds fr	om gaming revenues and on subsequent years
5		from mining royalties to fund the dist	ricts needs; and
6	WHEREAS,	the Legislative Council on 27 July me	t to discuss the methodology upon which to
7		distribute the FY 2007 Gaming Rever	nues, consequentially resolving to distribute
8		revenues equally among the districts;	and
9	WHEREAS.		ibution of revenues had initiated preparation
10	,	_	e district programs to reduce their operating
		-	e district programs to reduce their operating
11		spending level by 10%; and	
12	WHEREAS,	the decision to decrease spending leve	l of the district by the San Lucy District Council
13		is in anticipation of declining P.L. 9	9-503 principal and interest, as a result of
14		purchasing replacement lands for Sar	Lucy District; and
15	WHEREAS,	by Resolution No. 06-615, the Tohor	no O'odham Legislative Council authorized
16		continuance of San Lucy District's oper	ations pending approval of the districts FY 2007
17		Budget; and	
18	WHEREAS,	the San Lucy District Council held a p	ublic meeting on Thursday, 14 September, to
19		present the purposed FY 2007 Budget,	resulting in passage of Resolution No. SL 09-71-
20		06 approving the new fiscal year's bud	get; and
21	WHEREAS,	the Investment and Budget & Finance	Committees reviewed the San Lucy District FY
22		2007 Budget on October 2006 recommo	ending the budget be forwarded to the Tohono
23		O'odham Legislative Council for appro	oval.
24	NOW, THE	REFORE, BE IT RESOLVED the Tohono O	odham Legislative Council hereby approves
25		San Lucy District FY 2007 Budget in th	e amount of \$2,178,750.55.
26	BE IT FURT	THER RESOLVED that funds derived from	n;
27		Gaming Revenues	\$ 1,094,690.00
28		Gaming Revenues Carry Over	90,930.23
29		P.L. 99-503 Interest	527,032.91
30		P.L. 99-503 Carry Over	466,097.41
31		-	\$ 2,178,750.55
32		shall be the sources to fund the San Lu	cy District FY 2007 Budget.

33

	RESOLUTION NO. <u>06-795</u> (Approving San Lucy District FY 2007 Budget) Page 2 of 3				
1	BE IT FURTHER RESOLVED that bi-weekly disbursement of P.L. 99-503 funds shall be wire-				
2	transferred to the San Lucy District's General Account at Stockmen's Bank, in Gila				
3	Bend, Arizona.				
4	BE IT FURTHER RESOLVED the San Lucy District budget shall be retro-active to October 1, 2006.				
5	BE IT FURTHER RESOLVED that any modifications regarding the attached Budget shall be				
6	submitted to the Legislative Budget & Finance Committee for review and approval.				
7	BE IT FINALLY RESOLVED that any changes in the funding or funding levels of the attached budget				
8	shall be submitted to the Legislative Budget & Finance committee for review and				
9	further prior approval by the Tohono O'odham Legislative Council.				
10	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 08^{TH} . Day				
11	of DECEMBER, 2006 at a meeting at which a quorum was present with a vote of 2,072.3 FOR;-0-				
12	AGAINST; 368.5NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by				
13	Section 1 (d)(2)&(3) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the				
14	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant				
15 16	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June				
17	18, 1934 (48 Stat. 984).				
18	TOHONO O'ODHAM LEGISLATIVE COUNCIL				
19	TOHONO O ODHAM EEGALATIVE COUNCIL				
20					
21					
22	Verlon M. Jose, Legislative Chairman				
23	/A 0 /-				
24 25	day of December, 2006				
26	ATTEST:				
27					
28					
29	Shum Jupy				
30	Lucille Lopez, Acting Legislative Secretary				
31					
32	08 day of <u>Dumby</u> , 2006.				
33					
34	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono				
35	O'Odham Nation on the day of Hollinger, 2006 at 11.25 o'clock, Q. M.				
36	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective				
37	upon her approval or upon her failure to either approve or disapprove it within 48 hours of				
38	submittal.				
39 40	ΤΩΠΟΝΩ ΟΙΩΡΙΑΜΉ ΕΩΙΩΙ ΑΤΙΜΕ ΩΩΙΝΩΙΙ				
41	TOHONO O'ODHAM LEGISLATIVE COUNCIL				
42					
43	1/w/lh				
44	Verlon M. Jose, Legislative Chairman				
45					

	RESOLUTION NO. <u>06-795</u> (Approving San Lucy District FY 2007 Budget)
	lm: a
1 2	[1] APPROVED on the day of Alleway, 2006
3	[] DISAPPROVED at 1:35 o'clock, f
5	Marial Man Sound
6 7	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
8	TOHONO O'ODHAM NATION
9	
10 11	, H
12	Returned to the Legislative Secretary on the day of
13 14	De cember , 2006, at 3:21 o'clock, f.M.
15 16	Channel
17	Huranghan gpv:
18 19	Lucille Lopez, Acting Legislative Secretary
20	
21	
22 23	
24	
25	
26 27	
28	
29	
30	
31 32	
33	
34	
35 36	
37	
38	
39 40	
41	
42	
43 44	
44 45	
46	
47	
48 49	
50	

ACTION: APPROVING SAN LUCY DISTRICT FY 2007 BUDGET

MOVED: COUNCILWOMAN GLORIA RAMIREZ SECOND: COUNCILWOMAN OLIVIA LISTON

DATE: DECEMBER 05, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	1. FRANCES MIGUEL (Vernon J. Smith)	155.40	x x			
	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	^			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	Х			
GU ACHI 221.6	1. TIMOTHY L. JOAQUIN** (Jonas Robles)	110.80			х	
	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80			X	
GU VO	1. RAYMOND VICTOR	96.55	X			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			
HICKIWAN	1. (Vacant)	83.70	x			
167.4	2. SANDRA ORTEGA	83.70	X			
PISINEMO	1. BARBARA SALVICIO	85.90	x			X
171.8	2. GERALD FAYUANT ()	85.90	X			
SAN LUCY	1. (Vacant)	84.50	X			
169.0	2. GLORIA RAMIREZ	84.50	х			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	x			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	x			
SCHUK TOAK	1. FRANCES B. CONDE	73.45			x	X
146.9	2. PHYLLIS JUAN	73.45			Х	
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	x			
421.0	2. EVELYN B. JUAN MANUEL (Absent) (Kimberly Listo) (Present)	210.50	X	1		
SIF OIDAK	1. WAVALENE ROMERO (Isidro Lopez)	93.35	x			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	x			X
	TOTAL	2,440.80	2,072.3	-0-	368.5	[03]

^{**}PASSED VOTES